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No / /10a | % % | /10a %
1 ( ) 24 8/12 | 466| 13 | 563 13 |221| 923 533 65 |1 1
2 5% 36 8/10 | 466| 120 | 523 21 |21.2| 741 471 | 116 |1 1
3 20% 42 8/15 | 500| 62 | 378 36 |20.7| 873 327 | 166 |1 1
4 20% 36 8/15 | 356| 62 | 455 34 |21.4| 87.0 352 | 250 |2 1
5 20% 48 8/15 | 369| 117 | 479 21 |220| 87 445 91 |1 1
6 20-50% 42 8/20 | 445| 126 | 375 54 203 | 765 304 | 229 |2 2
7 20-50% 48 8/20 | 475| 153 | 373 36 |20.8 | 86.2 305 | 209 |2 1
8 20-50% 48 8/20 | 490| 93 | 343 6.3 |21.6| 840 295 | 195 |2 2
9 20-50% 42 8/18 | 298| 162 | 287 36 [208| 715 250 | 158 |3 2
10 50-70% 36 820 | 363| 30 | 314 10.1 |22.0| 70.6 272 | 222 |2 2
11 50-70% 48 8/25 | 510| 63 | 338 11.3 |20.4 | 69.8 254 | 325 |3 2
12 50-70% 42 8/21 | 256| 244 | 213 59 [20.0| 639 163 | 276 |3 1
13 70% 42 8/30 | 277| 106 87 325 (206 | 223 62 | 518
14 70% 48 825 | 251| 53 | 127 38.7 |193| 252 77 | 60.6 s s
15 70% 42 8/30 | 131] 637 | 101 146 |19.2| 538 64 | 459 |2 1
16 30% 42 8/15 | 431| 67 | 414 102 |21.3| 733 344 | 254 |3
17 90% 42 820 | 528| 41 | 166 16.1 |20.1| 353 112 | 431 s 3




